Bid Abstract

Riverside County Flood Control & Water Conservation District

ENGINEER'S ESTIMATE

KIP, INCORPORATED

1995 Market St. Riverside, CA 92501 Phone: 951.955.1200 Fax: 951.788.9965

Project Name: DAY CREEK MDP LINE J, STAGE 2

 Project Number:
 2-0-0272-02

 Bid Open Date:
 07/10/2012



					,		CONTRA	CTORS, INC.
em No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$80,000.00	\$80,000.00	\$27,000.00	\$27,000.00	\$130,000.00	\$130,000.00
2 WATER CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$11,500.00	\$11,500.00	\$5,175.00	\$5,175.00
3 TRAFFIC CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$40,000.00	\$40,000.00	\$49,500.00	\$49,500.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$35,000.00	\$35,000.00	\$62,000.00	\$62,000.00	\$116,000.00	\$116,000.00
5 EXCAVATION	C.Y.	38,530	\$5.00	\$192,650.00	\$2.60	\$100,178.00	\$3.00	\$115,590.00
6 BACKFILL	C.Y.	31,600	\$10.00	\$316,000.00	\$2.80	\$88,480.00	\$2.00	\$63,200.00
7 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	205	\$75.00	\$15,375.00	\$85.00	\$17,425.00	\$59.00	\$12,095.00
8 FILTER MATERIAL	C.Y.	50	\$25.00	\$1,250.00	\$45.00	\$2,250.00	\$51.00	\$2,550.00
9 TRENCH SAFETY SYSTEM AND FALSE WORK	L.S.	1	\$100,000.00	\$100,000.00	\$2,300.00	\$2,300.00	\$50,000.00	\$50,000.00
10 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	2,038	\$600.00	\$1,222,800.00	\$300.00	\$611,400.00	\$199.00	\$405,562.00
11 CLASS "A" CONCRETE, HEADWALL CALTRANS STANDARD D90	EACH	3	\$15,000.00	\$45,000.00	\$13,500.00	\$40,500.00	\$17,800.00	\$53,400.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	5	\$300.00	\$1,500.00	\$1,500.00	\$7,500.00	\$115.00	\$575.00
13 TRANSITION STRUCTURE NO. 4	C.Y.	57	\$600.00	\$34,200.00	\$700.00	\$39,900.00	\$565.00	\$32,205.00
14 JUNCTION STRUCTURE NO. 1	EACH	1	\$7,000.00	\$7,000.00	\$1,850.00	\$1,850.00	\$9,315.00	\$9,315.00
15 MANHOLE NO. 3	EACH	6	\$4,000.00	\$24,000.00	\$1,950.00	\$11,700.00	\$2,165.00	\$12,990.00
16 MANHOLE NO. 4	EACH	1	\$6,500.00	\$6,500.00	\$4,100.00	\$4,100.00	\$7,705.00	\$7,705.00
17 REINFORCING STEEL, GRADE 60	LBS.	600,000	\$1.00	\$600,000.00	\$0.83	\$498,000.00	\$0.87	\$522,000.00
18 42" RCP, 2500D	L.F.	145	\$175.00	\$25,375.00	\$98.00	\$14,210.00	\$199.00	\$28,855.00
19 30" RCP, 2000D	L.F.	91	\$120.00	\$10,920.00	\$70.00	\$6,370.00	\$166.00	\$15,106.00
20 24" RCP, CLASS IV	L.F.	21	\$110.00	\$2,310.00	\$62.00	\$1,302.00	\$284.00	\$5,964.00
21 6-FOOT CALTRANS STANDARD A85 FENCE	L.F.	1,515	\$15.00	\$22,725.00	\$18.00	\$27,270.00	\$19.00	\$28,785.00
22 TEMPORARY FENCING	L.F.	90	\$15.00	\$1,350.00	\$21.00	\$1,890.00	\$3.20	\$288.00
23 CALTRANS D75A TYPE OMP INLET	EACH	1	\$3,000.00	\$3,000.00	\$2,700.00	\$2,700.00	\$5,175.00	\$5,175.00
24 DUST ABATEMENT	L.S.	1	\$20,000.00	\$20,000.00	\$28,500.00	\$28,500.00	\$8,625.00	\$8,625.00
25 HYDROSEEDING	ACRE	3.5	\$2,000.00	\$7,000.00	\$2,700.00	\$9,450.00	\$2,958.00	\$10,353.00
26 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$28,500.00	\$28,500.00	\$10,925.00	\$10,925.00

Project Number: 2-0-0272-02 Bid Open Date: 07/10/2012			ENGINEER'S I	ESTIMATE	KIP, INCOR	PORATED		Page 2 of 10 GENERAL CTORS, INC.
<i>Item No. & Description</i> 27 NON-STORMWATER DISCHARGE OR DEWATERING	<i>Unit</i> L.S.	Quantity 1	Unit Bid \$5,000.00	Total Bid \$5,000.00	<i>Unit Bid</i> \$5,000.00	<i>Total Bid</i> \$5,000.00	<i>Unit Bid</i> \$4,025.00	<i>Total Bid</i> \$4,025.00
				\$2,868,955.00		\$1,691,275.00		\$1,705,963.00

Project Number: 2-0-0272-02 Bid Open Date: 07/10/2012

Bia Open Date: 07/10/2012			BEDON CONST INC		IRVINE PIP IN		SRD ENGIN	NEERING, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$90,000.00	\$90,000.00	\$100,000.00	\$100,000.00	\$51,000.00	\$51,000.00
2 WATER CONTROL	L.S.	1	\$1,775.00	\$1,775.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00
3 TRAFFIC CONTROL	L.S.	1	\$52,000.00	\$52,000.00	\$48,000.00	\$48,000.00	\$28,000.00	\$28,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$73,000.00	\$73,000.00	\$52,000.00	\$52,000.00	\$98,000.00	\$98,000.00
5 EXCAVATION	C.Y.	38,530	\$4.60	\$177,238.00	\$1.40	\$53,942.00	\$2.10	\$80,913.00
6 BACKFILL	C.Y.	31,600	\$3.20	\$101,120.00	\$4.82	\$152,312.00	\$4.80	\$151,680.00
7 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	205	\$58.00	\$11,890.00	\$75.00	\$15,375.00	\$74.00	\$15,170.00
8 FILTER MATERIAL	C.Y.	50	\$59.00	\$2,950.00	\$50.00	\$2,500.00	\$72.00	\$3,600.00
9 TRENCH SAFETY SYSTEM AND FALSE WORK	L.S.	1	\$8,775.00	\$8,775.00	\$11,500.00	\$11,500.00	\$21,000.00	\$21,000.00
10 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	2,038	\$258.00	\$525,804.00	\$385.00	\$784,630.00	\$390.00	\$794,820.00
11 CLASS "A" CONCRETE, HEADWALL CALTRANS STANDARD D90	EACH	3	\$17,600.00	\$52,800.00	\$8,500.00	\$25,500.00	\$23,500.00	\$70,500.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	5	\$530.00	\$2,650.00	\$900.00	\$4,500.00	\$680.00	\$3,400.00
13 TRANSITION STRUCTURE NO. 4	C.Y.	57	\$825.00	\$47,025.00	\$580.00	\$33,060.00	\$950.00	\$54,150.00
14 JUNCTION STRUCTURE NO. 1	EACH	1	\$2,300.00	\$2,300.00	\$3,400.00	\$3,400.00	\$3,600.00	\$3,600.00
15 MANHOLE NO. 3	EACH	6	\$1,200.00	\$7,200.00	\$2,600.00	\$15,600.00	\$2,300.00	\$13,800.00
16 MANHOLE NO. 4	EACH	1	\$4,600.00	\$4,600.00	\$6,000.00	\$6,000.00	\$7,900.00	\$7,900.00
17 REINFORCING STEEL, GRADE 60	LBS.	600,000	\$0.90	\$540,000.00	\$0.87	\$522,000.00	\$0.80	\$480,000.00
18 42" RCP, 2500D	L.F.	145	\$94.00	\$13,630.00	\$144.00	\$20,880.00	\$131.00	\$18,995.00
19 30" RCP, 2000D	L.F.	91	\$62.50	\$5,687.50	\$90.00	\$8,190.00	\$122.00	\$11,102.00
20 24" RCP, CLASS IV	L.F.	21	\$43.00	\$903.00	\$80.00	\$1,680.00	\$120.00	\$2,520.00
21 6-FOOT CALTRANS STANDARD A85 FENCE	L.F.	1,515	\$18.00	\$27,270.00	\$30.00	\$45,450.00	\$22.00	\$33,330.00
22 TEMPORARY FENCING	L.F.	90	\$30.00	\$2,700.00	\$22.00	\$1,980.00	\$20.00	\$1,800.00
23 CALTRANS D75A TYPE OMP INLET	EACH	1	\$2,228.00	\$2,228.00	\$3,200.00	\$3,200.00	\$4,100.00	\$4,100.00
24 DUST ABATEMENT	L.S.	1	\$24,750.00	\$24,750.00	\$16,000.00	\$16,000.00	\$6,000.00	\$6,000.00
25 HYDROSEEDING	ACRE	3.5	\$3,000.00	\$10,500.00	\$3,500.00	\$12,250.00	\$2,500.00	\$8,750.00
26 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$13,500.00	\$13,500.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00

Page 3 of 10

Project Number: Bid Open Date:	2-0-0272-02 07/10/2012			BEDON CONST INC.	,	IRVINE PIPI IN	,	SRD ENGIN	Page 4 of 10 EERING, INC.
Item No. & Description 27 NON-STORMV DEWATERING	WATER DISCHARGE OR	<i>Unit</i> L.S.	Quantity 1	<i>Unit Bid</i> \$5,850.00	Total Bid \$5,850.00	<i>Unit Bid</i> \$2,000.00	<i>Total Bid</i> \$2,000.00	<i>Unit Bid</i> \$1,000.00	<i>Total Bid</i> \$1,000.00
					\$1,808,145.50		\$1,962,949.00		\$1,993,130.00

 Project Number:
 2-0-0272-02

 Bid Open Date:
 07/10/2012

<i>Bid Open Date:</i> 07/10/2012			SUKUT CONST INC	,	KEC ENGI	NEERING	CONST	ERSIDE RUCTION
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	ANY_INC Total Bid
1 MOBILIZATION	L.S.	1	\$270,000.00	\$270,000.00	\$100.00	\$100.00	\$200,000.00	\$200,000.00
2 WATER CONTROL	L.S.	1	\$25,000.00	\$25,000.00	\$129,000.00	\$129,000.00	\$10,000.00	\$10,000.00
3 TRAFFIC CONTROL	L.S.	1	\$58,000.00	\$58,000.00	\$75,000.00	\$75,000.00	\$45,000.00	\$45,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$45,000.00	\$45,000.00	\$51,300.00	\$51,300.00	\$178,000.00	\$178,000.00
5 EXCAVATION	C.Y.	38,530	\$3.70	\$142,561.00	\$6.35	\$244,665.50	\$5.00	\$192,650.00
6 BACKFILL	C.Y.	31,600	\$4.60	\$145,360.00	\$10.00	\$316,000.00	\$6.00	\$189,600.00
7 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	205	\$56.80	\$11,644.00	\$110.00	\$22,550.00	\$75.00	\$15,375.00
8 FILTER MATERIAL	C.Y.	50	\$74.00	\$3,700.00	\$69.00	\$3,450.00	\$135.00	\$6,750.00
9 TRENCH SAFETY SYSTEM AND FALSE WORK	L.S.	1	\$1,000.00	\$1,000.00	\$13,000.00	\$13,000.00	\$1,500.00	\$1,500.00
10 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	2,038	\$323.00	\$658,274.00	\$270.00	\$550,260.00	\$360.00	\$733,680.00
11 CLASS "A" CONCRETE, HEADWALL CALTRANS STANDARD D90	EACH	3	\$11,500.00	\$34,500.00	\$18,000.00	\$54,000.00	\$11,500.00	\$34,500.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	5	\$412.00	\$2,060.00	\$900.00	\$4,500.00	\$850.00	\$4,250.00
13 TRANSITION STRUCTURE NO. 4	C.Y.	57	\$638.00	\$36,366.00	\$550.00	\$31,350.00	\$500.00	\$28,500.00
14 JUNCTION STRUCTURE NO. 1	EACH	1	\$5,000.00	\$5,000.00	\$2,300.00	\$2,300.00	\$5,500.00	\$5,500.00
15 MANHOLE NO. 3	EACH	6	\$2,250.00	\$13,500.00	\$2,500.00	\$15,000.00	\$3,000.00	\$18,000.00
16 MANHOLE NO. 4	EACH	1	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
17 REINFORCING STEEL, GRADE 60	LBS.	600,000	\$0.78	\$468,000.00	\$0.97	\$582,000.00	\$0.75	\$450,000.00
18 42" RCP, 2500D	L.F.	145	\$141.00	\$20,445.00	\$150.00	\$21,750.00	\$180.00	\$26,100.00
19 30" RCP, 2000D	L.F.	91	\$91.50	\$8,326.50	\$140.00	\$12,740.00	\$120.00	\$10,920.00
20 24" RCP, CLASS IV	L.F.	21	\$127.00	\$2,667.00	\$180.00	\$3,780.00	\$150.00	\$3,150.00
21 6-FOOT CALTRANS STANDARD A85 FENCE	L.F.	1,515	\$21.00	\$31,815.00	\$32.00	\$48,480.00	\$20.00	\$30,300.00
22 TEMPORARY FENCING	L.F.	90	\$19.00	\$1,710.00	\$24.00	\$2,160.00	\$20.00	\$1,800.00
23 CALTRANS D75A TYPE OMP INLET	EACH	1	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00	\$3,500.00	\$3,500.00
24 DUST ABATEMENT	L.S.	1	\$6,000.00	\$6,000.00	\$13,000.00	\$13,000.00	\$10,000.00	\$10,000.00
25 HYDROSEEDING	ACRE	3.5	\$2,750.00	\$9,625.00	\$3,000.00	\$10,500.00	\$2,500.00	\$8,750.00
26 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$48,000.00	\$48,000.00	\$18,000.00	\$18,000.00	\$50,000.00	\$50,000.00

Page 5 of 10

Project Number: 2-0-0272-02								Page 6 of 10
<i>Bid Open Date:</i> 07/10/2012			SUKUT CONST INC	,	KEC ENGI	NEERING		ERSIDE RUCTION
<i>Item No. & Description</i> 27 NON-STORMWATER DISCHARGE OR DEWATERING	<i>Unit</i> L.S.	Quantity	Unit Bid \$1,000.00	<i>Total Bid</i> \$1,000.00	<i>Unit Bid</i> \$3,500.00	<i>Total Bid</i> \$3,500.00	COMP A Unit Bid \$1.00	ANY, INC Total Bid \$1.00
				\$2,067,553.50		\$2,245,385.50		\$2,265,326.00

Project Number: 2-0-0272-02 Bid Open Date: 07/10/2012

Bid Open Date: 07/10/2012			COLICH CONS LP		GRIFFITH	COMPANY		AVATING IEERS, INC.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$120,000.00	\$120,000.00	\$200,000.00	\$200,000.00	\$120,000.00	\$120,000.00
2 WATER CONTROL	L.S.	1	\$70,000.00	\$70,000.00	\$15,000.00	\$15,000.00	\$12,800.00	\$12,800.00
3 TRAFFIC CONTROL	L.S.	1	\$42,000.00	\$42,000.00	\$35,000.00	\$35,000.00	\$18,500.00	\$18,500.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$100,000.00	\$100,000.00	\$80,000.00	\$80,000.00	\$115,000.00	\$115,000.00
5 EXCAVATION	C.Y.	38,530	\$7.00	\$269,710.00	\$5.00	\$192,650.00	\$7.75	\$298,607.50
6 BACKFILL	C.Y.	31,600	\$10.00	\$316,000.00	\$12.00	\$379,200.00	\$6.00	\$189,600.00
7 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	205	\$90.00	\$18,450.00	\$150.00	\$30,750.00	\$100.00	\$20,500.00
8 FILTER MATERIAL	C.Y.	50	\$100.00	\$5,000.00	\$100.00	\$5,000.00	\$75.00	\$3,750.00
9 TRENCH SAFETY SYSTEM AND FALSE WORK	L.S.	1	\$5,000.00	\$5,000.00	\$18,000.00	\$18,000.00	\$5,000.00	\$5,000.00
10 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	2,038	\$340.00	\$692,920.00	\$307.00	\$625,666.00	\$575.00	\$1,171,850.00
11 CLASS "A" CONCRETE, HEADWALL CALTRANS STANDARD D90	EACH	3	\$17,000.00	\$51,000.00	\$33,000.00	\$99,000.00	\$14,500.00	\$43,500.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	5	\$600.00	\$3,000.00	\$900.00	\$4,500.00	\$800.00	\$4,000.00
13 TRANSITION STRUCTURE NO. 4	C.Y.	57	\$570.00	\$32,490.00	\$302.00	\$17,214.00	\$800.00	\$45,600.00
14 JUNCTION STRUCTURE NO. 1	EACH	1	\$2,500.00	\$2,500.00	\$11,000.00	\$11,000.00	\$1,500.00	\$1,500.00
15 MANHOLE NO. 3	EACH	6	\$3,000.00	\$18,000.00	\$9,000.00	\$54,000.00	\$3,000.00	\$18,000.00
16 MANHOLE NO. 4	EACH	1	\$18,000.00	\$18,000.00	\$7,300.00	\$7,300.00	\$3,500.00	\$3,500.00
17 REINFORCING STEEL, GRADE 60	LBS.	600,000	\$0.75	\$450,000.00	\$0.85	\$510,000.00	\$0.82	\$492,000.00
18 42" RCP, 2500D	L.F.	145	\$110.00	\$15,950.00	\$232.00	\$33,640.00	\$205.00	\$29,725.00
19 30" RCP, 2000D	L.F.	91	\$105.00	\$9,555.00	\$271.00	\$24,661.00	\$145.00	\$13,195.00
20 24" RCP, CLASS IV	L.F.	21	\$100.00	\$2,100.00	\$351.00	\$7,371.00	\$130.00	\$2,730.00
21 6-FOOT CALTRANS STANDARD A85 FENCE	L.F.	1,515	\$17.00	\$25,755.00	\$26.00	\$39,390.00	\$16.00	\$24,240.00
22 TEMPORARY FENCING	L.F.	90	\$8.00	\$720.00	\$20.00	\$1,800.00	\$8.00	\$720.00
23 CALTRANS D75A TYPE OMP INLET	EACH	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00
24 DUST ABATEMENT	L.S.	1	\$42,000.00	\$42,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00
25 HYDROSEEDING	ACRE	3.5	\$2,365.00	\$8,277.50	\$2,772.00	\$9,702.00	\$2,500.00	\$8,750.00
26 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$33,000.00	\$33,000.00	\$70,000.00	\$70,000.00	\$3,700.00	\$3,700.00

Page 7 of 10

Project Number: 2-0-0272-02 Bid Open Date: 07/10/2012			COLICH CONST	,	GRIFFITH (COMPANY	_	Page 8 of 10 VATING EERS, INC.
Item No. & Description 27 NON-STORMWATER DISCHARGE OR DEWATERING	<i>Unit</i> L.S.	Quantity 1	<i>Unit Bid</i> \$33,000.00	<i>Total Bid</i> \$33,000.00	<i>Unit Bid</i> \$2,500.00	<i>Total Bid</i> \$2,500.00	<i>Unit Bid</i> \$2,000.00	<i>Total Bid</i> \$2,000.00
				\$2,388,427.50		\$2,492,344.00		\$2,659,967.50

 Project Number:
 2-0-0272-02

 Bid Open Date:
 07/10/2012

<i>Bid Open Date:</i> 07/10/2012			BELCZAK & S	SONS, INC.	BEADOR CON	ISTRUCTION O.
Item No. & Description	Unit	Quantity	Unit Bid	Total Bid	Unit Bid	Total Bid
1 MOBILIZATION	L.S.	1	\$50,000.00	\$50,000.00	\$25,000.00	\$25,000.00
2 WATER CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00
3 TRAFFIC CONTROL	L.S.	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
4 CLEARING AND MISCELLANEOUS WORK	L.S.	1	\$150,000.00	\$150,000.00	\$165,895.00	\$165,895.00
5 EXCAVATION	C.Y.	38,530	\$5.50	\$211,915.00	\$14.00	\$539,420.00
6 BACKFILL	C.Y.	31,600	\$11.00	\$347,600.00	\$13.00	\$410,800.00
7 CONTROLLED LOW STRENGTH MATERIAL (CLSM)	C.Y.	205	\$90.00	\$18,450.00	\$120.00	\$24,600.00
8 FILTER MATERIAL	C.Y.	50	\$80.00	\$4,000.00	\$300.00	\$15,000.00
9 TRENCH SAFETY SYSTEM AND FALSE	L.S.	1	\$625,000.00	\$625,000.00	\$25,000.00	\$25,000.00
WORK	OV	2 0 2 0	#210.00	0 444 0 0400	¢ 4 4 0, 0 0	\$206 72 0 00
10 CLASS "A" CONCRETE, REINFORCED CONCRETE BOX	C.Y.	2,038	\$218.00	\$444,284.00	\$440.00	\$896,720.00
11 CLASS "A" CONCRETE, HEADWALL	EACH	3	\$14,000.00	\$42,000.00	\$13,000.00	\$39,000.00
CALTRANS STANDARD D90	LACII	5	\$14,000.00	\$42,000.00	\$15,000.00	\$57,000.00
12 CLASS "B" CONCRETE, MISCELLANEOUS	C.Y.	5	\$350.00	\$1,750.00	\$1,000.00	\$5,000.00
13 TRANSITION STRUCTURE NO. 4	C.Y.	57	\$600.00	\$34,200.00	\$825.00	\$47,025.00
14 JUNCTION STRUCTURE NO. 1	EACH	1	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
15 MANHOLE NO. 3	EACH	6	\$3,700.00	\$22,200.00	\$2,000.00	\$12,000.00
16 MANHOLE NO. 4	EACH	1	\$6,600.00	\$6,600.00	\$6,000.00	\$6,000.00
17 REINFORCING STEEL, GRADE 60	LBS.	600,000	\$0.90	\$540,000.00	\$0.75	\$450,000.00
18 42" RCP, 2500D	L.F.	145	\$225.00	\$32,625.00	\$135.00	\$19,575.00
19 30" RCP, 2000D	L.F.	91	\$190.00	\$17,290.00	\$100.00	\$9,100.00
20 24" RCP, CLASS IV	L.F.	21	\$260.00	\$5,460.00	\$80.00	\$1,680.00
21 6-FOOT CALTRANS STANDARD A85 FENCE	L.F.	1,515	\$18.00	\$27,270.00	\$20.00	\$30,300.00
22 TEMPORARY FENCING	L.F.	90	\$9.00	\$810.00	\$19.00	\$1,710.00
23 CALTRANS D75A TYPE OMP INLET	EACH	1	\$3,700.00	\$3,700.00	\$5,000.00	\$5,000.00
24 DUST ABATEMENT	L.S.	1	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
25 HYDROSEEDING	ACRE	3.5	\$2,500.00	\$8,750.00	\$2,850.00	\$9,975.00
26 STORMWATER AND NON-STORMWATER POLLUTION CONTROL	L.S.	1	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00

Page 9 of 10